
 

 
12302 Shiloh Church Rd. Houston TX 77066 Phone (281) 880-6322 - Fax (281) 880-6325 
 

 

 

 
 

PART NUMBER: F154LB, F1530OR 
                             F1530LD, F153LH 
                           
PRODUCT:           LIGHT BAR 
                           PRE-RUNNER         
APPLICATION: 15-16 F-150 
                          

STOP! READ BEFORE CONTINUING 

THIS PART IS INTENDED TO BE PROFESSIONALLY       

INSTALLED BY A CERRIFIED TECHNICIAN. PLEASE READ    

ALL INSTRUCTIONS CAREFULLY AND COMPLETELY BEFORE   

BEGINNING INSTALLATION! 

 

 

           

 

                                          

                    

 

INSTALLATION:                                           

 Step 1:   Using a panel popper or flat head 

screw driver, release all 16 retaining clips 

holding the center bumper cover. Pull out 

and away to remove from bumper, 

exposing the six factory bumper bolts. 

(Fig. A) 

 

Step 2:  Remove the two upper bumper                      

bolts (passenger/driver) located towards 

the Inner side of the vehicle. (Fig. B) 

 

.Step 3:  Install the two mounting brackets  

Using the supplied 1/2”x 1 ½” Hex bolts       

nuts washers and leave loose.  

 

 

 

PARTS INCLUDED:                       QTY 
Light Bar / Pre-runner                             1 

Bumper brackets                                     2 

HARDWARE PACK:                        1 
½” X 1 ½” Hex bolts                                 2 

½” Washer                                                4 

M6 x 20mm Button Head bolts             6 

M6 nuts                                                     6 

5/16” x 1 ½” Hex Head bolt                   2 

5/16 Flat washer                                     4 

5/16” Nuts                                                2 

½” Nuts                                                     2 

Fig. A 

Fig. B 

 Upper/Inner  
Bumper bolts 

Retaining  
   Clips 



 

 

Step 4:  Using a 3/8” drill bit, drill out the lower mounting hole through the bracket for 

Driver/Passenger. Secure with supplied 5/16”x1 ½” hex bolt, 5/16” nuts and 5/16” washer. 

 (Fig.C) NOTE: Test fit Light bar/Pre-runner to bumper brackets to insure proper alignment 

before drilling lower holes.           

 

 
                                                       

Step 5:  Plastic bumper cover must be trimmed to expose mounting brackets.  The 

measurements in this step are approximant. (Fig.D)  NOTE: Take extra time and double check 

measurements before trimming the plastic. 

 

Fig. C 

  3/8” Lower 
Mounting Hole 
 

1 5/8” 

1 ¼” 

3/8” 

7 ½” 

Fig. D 



 

 
12302 Shiloh Church Rd. Houston TX 77066 Phone (281) 880-6322 - Fax (281) 880-6325 
 

 

 

 
 

PART NUMBER: F154LB, F1530OR 
                             F1530LD, F153LH 
                           
PRODUCT:           LIGHT BAR 
                           PRE-RUNNER         
APPLICATION: 15-16 F-150 
                          

 

 

        

Step 6:  Once plastic cover has been properly trimmed, re-install into bumper clips and secure. 

(Fig. E) 

 

 

 

Step 7:  Install Light bar/Pre-Runner to the bumper brackets using the supplied M6x20mm, M6 

flange nuts and M6 washers and leave loose. 

 

Step 8:  After Light bar/Pre-runner has been properly adjusted, tighten all hardware. Your 

install is now complete. 

 

Fig. E 



 

 

 

  


